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SECTION A 2 MARKS EACH
1. Find the H.C.F. of the following polynomials:
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2. Express the following to lowest terms :

[image: image2.wmf].

6)

 

(2x 

 

9)

 

 

(x

162

 

-

 

2x

2

4

-

+


.[image: image3.wmf].

60

 

 tan

3

-

 

30

sin 

63

 tan 

27

tan 

 

 

55

sin 

35

 

cos

 

:

 

evaluate

 

 tables,

tric

 trigonome

using

Without 

2

°

°

°

°

+

°

°


3. Find the ratio in which the point (-3, p) divides the line-segment joining the points (-5, -4) and (-2, 3). Hence find the value of p.

4. Two circles touch externally at a point P. From a point T on the tangent at P, tangents TQ and TR are drawn to the circles with points of contact Q and R respectively. Prove that TQ = TR.
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5. Find the sum of the first 51 terms of the A.P. whose second and third terms are respectively 14 and 18.
6. Solve for x and y:
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SECTION B 3 MARKS EACH

7. .Simplify :
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8. The length of a line-segment is 10. If one end is at (2, -3) and the abscissa of the second and is 10, show that is ordinate is either 3 or -9.[image: image7.wmf].
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9. The vertices of a triangle are (1, 2), (5, h) and (k, 10). If the point (4, 5) is the centroid of the triangle, then show that h = 3 and k = 6.
10. Three coins are tossed. Find the probability of getting

· exactly two heads

· at least two heads

· At least one head and one tail.

11. An 'ice cream cone' is the union of a right circular cone and a hemisphere that has the same (circular) base as the cone. Find the volume of the ice cream if the height of the cone is 9 cm and the radius of its base is 2.5 cm.

12. The mean of the following frequency distribution is 57.6 and the sum of the observations is 50. Find the missing frequencies f1 and f2.

Class                  Frequency

0 - 20                       7

20 - 40                     f1
40 - 60                     12

60 - 80                     f2

80 - 100                    8

100 - 120                  5  

13. A man borrowed Rs. 4,000 from a money lender and promised to return the amount in 3 equal half yearly installments. If the rate of interest in 16% per annum compounded half yearly, find the amount of the installment.

14. If the expenses of the house are as 300 on the rent, 500 on food, 600 on fees and 600 on miscellaneous draw the pie chart. 
15. An article is available for Rs. 90.000 cash or for Rs. 85,000 cash down payment and Rs. 5,500 to be paid after 3 months. Find the rate of interest charged under the installment plan.
16. Solve graphically the following system of linear equations:

2x - y =1;

x + 2y = 8.

Also, find the co-ordinates of the points where the lines meet the axis of y.
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SECTION C 5 MARKS EACH

19. From a window (h meters high above the ground) of a house in a street, the angles of elevation and depression of the top and the foot of another house 
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20. Prove that the quadrilateral formed by the angle bisectors of a cyclic quadrilateral is also cyclic.
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21. The annual income of Mahesh gupta is 450000/-. He donates 8000 per month to the relief of 100% and 3000 at 50% relief. He deducts 400 per month to the PF and 6000 quarterly to the LIC. If he deducts 2000 per month as the income tax for 11 months fond the tax he pays in the last month?

22. prove the Pythagoras theorem
on the basis of the theorem
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